MOUNTING INSTRUCTIONS

WINDSHIELD FOR
KTM 1290 SUPERDUKE R Ref.: 7014

V ok 7/ 7

Racing Screerrs

=

4)](/’" \ 5 3
[ OO o> <= Sllifme==ggl <

(> _ L

e [
\ Q)

¥

DESCRIPTION QTY.
1

1 Windshield
2 Right metal support 1
<\
- 3 Left metal support 1
. @@-
/t“ 4 Anti-reflect Visor 1
\ 5 (O @ inner 8,5 x @ outer 14x20 arrowhead 2
. 6 M8x55 Allen screw DIN 912 2
‘ /- "l 7 ) M5 Silemblock 4
|\ L= ‘ /) ‘ \ =
|\ /A — \ D 8 ) M5x16 1SO 7380 Allen screw 4
\ | () D)
\ S & \ (7 \\‘ / %/ 9 M5x0,5 nylon washer 4
| RN N 1
\ ‘w &\\ A r/ \/ | ///% | 10 9] M5 1SO 7380 screw cap 4



https://www.motorcycleid.com/puig/

V o 7 /]
Racing .S’creensg

Due to storage and transport processes of the windscreens, which are subjected to positions and temperature
changes out of our control, this may produce small deformations on the material causing some difficulties on
the mounting process. It is recommended to:

1- Place the screws on one side without tighten all the way.

2- Stretch the windscreen to the other side (see Fig. 1). The flexibility of the material allows this stretch

with no risk of breaking or cracking.

3- Place the screws withouth tighting all the way.

4- Tighten progressively all the screws.

Rely only on high-grade motorcycle windshields & fairings offered on our virtual shelves.


https://www.motorcycleid.com/windshields-fairings.html



